S5 FEEHEER
¥£5 0EHHEE

E fEHRRSE

Y,
=< F
= g it

=1 =F 1

RFAKERS
RET A LG R REFERR

SR -

HRRREE

= A
FER

- (—4b) R LR S

F EABESEERAREERE LHREEMT
PG  RERESER AR [ELEEES
XFI4—ILF
W R R R RS
_ 4«} NEAEAL AT P
2 %5 S OB YE RSB S
EF »® | %%%%)«?)@/ﬁ)@
; s
1 #-a= 42 5 519|158
2 0 #B-EXE 34.5 |55 7|5 |11 511
3 [ #B-5B 23 6819
4 b f&-pEbE 22 8|8 6
5 [ ##-BBEEE 21 81815
6 f #-/)\FEL 21 6| 1 117
1 [k ##-%E 20 8|66
8 [ #E-hiEEE 14 8 5 1
9 [ #E-EKFZ 11 4117
9 [ #EORF 11 7 4
11 [ #&-FBEE 8 8
12 [ #B-pfdKE 7 7
13 4 #&-miB 6 6
14 4% #B-=4 6 3 3
15 0 #8588 5.5 |5.5
16 i #-R 4 4
16 [H  #&-F5HH 4 4
18 [ #&-2¥ 2 2
18 B #&-RiE 2 2
BT LTWBE A dR AR AR AR AR AR s

Page: 1



